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PART C — (4 x 10 = 40 marks)
Answer any FOUR qﬁ_estions.
~All questions carry équal marks.
Explain any two CPU séheduling algorithm.

mLWFFLIOS aﬁpmmmuuggjm Lig L umrmrreﬁ
s gareug @ramam ellaréEs.

Discuss how Banker's algorithm is used to avoid
deadlock. '

Qewenp Heoamu seliliugpsrs GCubisiay qu_Uu@
(Wpemew! ereueur LIweTUBSgieugl eramieng edeufl. . .

Explain the critical section pfoblem. /
Mligse Q&&&@,Hfé,\mu eflen&(. |
Discuss data trér;sfer instructions/
&6 LIDHD &L_Laersear afleuf.

Explain the block diagram of 8085 microprocessor.

8085 mer Qewpurhder UMIULEMS 6UDIHI

elerids &.

Write an Assembly language program to édd two
BCD numbers. ‘

@Qrear@® BCD eramsamer sl (eusp@ iFblef
Gomullds DTS Qar@EliL eT(psIs.
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PARTA—(10x3=30 marks) |
Answer any TEN questions‘.
All questions carry equal marks.

Define Process.

Qewidour® — auenruim.

What is threat?

SIFEMSS GTETDTE GTEue?

What is internal fragmentation?
2 6T GIGHTL_MESHLD GTETDTED GTEuenT?
Define thrasing.

SCréln — auempui.

* What do you mean by preemtivek scheduling?

Qs_ss Heava srowapiu@ssssd updl § fbss
wmg)?

What is segmentation?

Q&5 L0aTGLF6IT GTETMTE ET6IT6 ?




